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I)  What is Efficiency?               






                 A)  Getting the most output for a given input 



     B)   Achieving an objective for the lowest cost

                             C)   One person’s efficiency is another’s waste






i.e.   Library example







                        -more librarians are more convenient, however cost increases 
-more branches are more convenient, however duplicate books             results in higher cost. 



      D)  Efficiency is always a contestable concept
II   Markets and Efficiency







      A)   Networks of exchanges






      B)   Defined by governments 
C)   In market trading government contracts are necessary contracts)         D)   Allocation not distribution
                                      - the production side of economy, not the consumption side






                  
III   Challenges to achieve a well-function market



     A) Voluntary exchange leads to efficiency




     B) Arise from within the economics discipline and market vision

            
     C) Numerous buyers and sellers are necessary




                 D) Full information about the available alternatives must be met.
E) Decisions and actions must not affect the welfare of people not part
     of the exchange

                       




 F) Must be used individually and used up
if used at all













IV   Challenges from the Polis  




                                                       A) A societal system should not be organized entirely as a market 
                      exchange.







B)  Markets mat not be completely voluntary because of outside


pressures 






           C) Since consumers are dependent on sellers, the welfare of both
          parties may not increase






     D)  The line between voluntarism and coercion is vague



     E)  It is impossible to know all the long term side effects


     F)  All individual actions have side effects on others



     G)   Markets are not the best was to organize society



V      Equality-Efficiency Trade-Off





     A)   Does not equal a zero sum i.e. “The more we have of one, the less
            we have of the other”
does not apply





     B)   Equality and efficiency are a trade-off due to:



1. Motivation








2. More government interference is needed to
          

                maintain equality           







            3. Resources are being used up but are not





                productive



















C)  If equality and efficiency were more compatible, our society  

       would have less distinction between income levels.
ie.”Incompatibility is a useful myth for the rich and powerful”,

       Kuttner, R The Economic Illusion: False Choices Between
                                    Prosperity and Justice,1984




    
